Webb et al: LPC Lawyers’ Skills 22e
Test Bank Chapter 06: Practical Problem-solving

Correct answers are marked with an asterisk (*)
Type: multiple response question  

Title: Chapter 06 - Question 01 

01) What is a problem? Read the following statements in turn, selecting those answers you think are correct.
Feedback: The point of this exercise was simply to remind you that ‘real’ problems involve some unknown element, or a degree of conflict or resistance to change. ‘A question which you or your client have not yet tried to answer’ cannot be a problem at this stage as there has so far been no attempt to deal with the issue. Similarly ‘an opportunity you have to improve the quality of your work’ is not a problem so long as it is only an opportunity and not a threat. It might become a problem, for example, if the quality of your work was to fall below accepted minimum standards, or if you were to identify real barriers that precluded you from acting to improve your work quality in the future. 
Page reference: 103-104
*a. A question to which you or your client don’t have an answer.
b. A question which you or your client have not yet tried to answer.
*c. A persistent situation you have been unable to change.
d. An opportunity you have to improve the quality of your work.
*e. A task you don’t have time to complete.
Type: multiple choice question
Title: Chapter 06 - Question 02

02) Which of the following kinds of information has research suggested that trainees are least likely to obtain from clients in an initial interview?
a. The client’s personal details (name, address, etc.).
Feedback: Incorrect. The correct answer is ‘Whether legal advice has already been sought elsewhere in respect of the matter’. Trainees in Avrom Sherr’s 1986 study routinely did not enquire whether the client had already obtained legal advice or whether there were any related ongoing proceedings, even though it is often critical to know what advice a person may have obtained and whether a solicitor is already retained, or whether you may be unable to act because of a conflict of interests created by existing proceedings.
Page reference: 110-111
b. The outcome that the client wants.
Feedback: Incorrect. The correct answer is ‘Whether legal advice has already been sought elsewhere in respect of the matter’. Trainees in Avrom Sherr’s 1986 study routinely did not enquire whether the client had already obtained legal advice or whether there were any related ongoing proceedings, even though it is often critical to know what advice a person may have obtained and whether a solicitor is already retained, or whether you may be unable to act because of a conflict of interests created by existing proceedings.
Page reference: 110-111
c. The personal details of other parties involved in the matter.
Feedback: Incorrect. The correct answer is ‘Whether legal advice has already been sought elsewhere in respect of the matter’. Trainees in Avrom Sherr’s 1986 study routinely did not enquire whether the client had already obtained legal advice or whether there were any related ongoing proceedings, even though it is often critical to know what advice a person may have obtained and whether a solicitor is already retained, or whether you may be unable to act because of a conflict of interests created by existing proceedings.
Page reference: 110-111
*d. Whether legal advice has already been sought elsewhere in respect of the matter.
Feedback: Correct. Trainees in Avrom Sherr’s 1986 study routinely did not enquire whether the client had already obtained legal advice or whether there were any related ongoing proceedings, even though it is often critical to know what advice a person may have obtained and whether a solicitor is already retained, or whether you may be unable to act because of a conflict of interests created by existing proceedings.
Page reference: 110-111
e. The precipitating event that led the client to seek legal advice.
Feedback: Incorrect. The correct answer is ‘Whether legal advice has already been sought elsewhere in respect of the matter’. Trainees in Avrom Sherr’s 1986 study routinely did not enquire whether the client had already obtained legal advice or whether there were any related ongoing proceedings, even though it is often critical to know what advice a person may have obtained and whether a solicitor is already retained, or whether you may be unable to act because of a conflict of interests created by existing proceedings. 

Page reference: 110-111
Type: multiple response question 

Title: Chapter 06 - Question 03 

03) Which three of the following five simple questions should you ask to clarify your ‘standpoint’ on a problem?
Feedback: To clarify your ‘standpoint’ on a problem you should ask: ‘Who am I?’, ‘What am I trying to do?’, and ‘At what stage in the process am I?’.

Page reference: 111
*a. Who am I?
b. Who is my client?
*c. What am I trying to do?
*d. At what stage in the process am I?
e. What should I do next?

Type: multiple response question 

Title: Chapter 06 - Question 04 

04) Which of the following would you include in a trial notebook?
Feedback: All of these items except ‘a list of the facts you can’t prove’ could and probably should form part of a good trial notebook. ‘A list of the facts you can’t prove’ should be accommodated indirectly in the proof checklist, but you should not have significant unexplained gaps, if you are running an appropriate case theory.
Page reference: 113-114
*a. Your chronology.
*b. A proof checklist.
c. A list of the facts you can’t prove.
*d. Analysed witness statements.
*e. Any skeleton argument(s) you intend to present.
Type: multiple choice question
Title: Chapter 06 - Question 05

05) One way of defining a problem is to summarize its features as SCOC, but can you remember what SCOC stands for? Is it:
a. Solutions—Constraints, Outputs—Causes
Feedback: Incorrect.  The correct answer is Symptoms—Causes, Outcomes—Constraints.
Page reference: 115

b. Solutions Created to Overcome Complaints
Feedback: Incorrect.  The correct answer is Symptoms—Causes, Outcomes—Constraints.
Page reference: 115

*c. Symptoms—Causes, Outcomes—Constraints
Feedback: Correct.

Page reference: 115

d. Simplified Causes—Outcomes of Case
Feedback: Incorrect.  The correct answer is Symptoms—Causes, Outcomes—Constraints.
Page reference: 115

e. Solutions—Constraints, Objectives—Constraints
Feedback: Incorrect.  The correct answer is Symptoms—Causes, Outcomes—Constraints.
Page reference: 115
Type: multiple choice question
Title: Chapter 06 - Question 06

06) What are the facts in issue in a case?
a. Evidence which establishes the ingredients of an offence or action.
Feedback: Incorrect. This answer is equating facts in issue with evidence. The facts in issue will be proved by evidence, they are not in themselves evidence.
Page reference: 116-117
*b. Facts which must be proved to establish the ingredients of an offence or action.
Feedback: Correct. This is the only one of the five statements which captures the full legal meaning of the term. Note the structure used in charting at para 6.5.3.
Page reference: 116-117
c. Facts which are relevant to the matter in dispute.
Feedback: Incorrect. This answer is close, but ‘relevant’ is not a precise enough test—a fact may be relevant without being necessary to establish the elements or ingredients of a crime or cause of action.
Page reference: 116-117
d. Facts which go only to the credibility of a witness.
Feedback: Incorrect. The correct answer is ‘facts which must be proved to establish the ingredients of an offence or action’ because this is the only one of the five statements which captures the full legal meaning of the term. Note the structure used in charting at para 6.5.3.
Page reference: 116-117
e. Evidence which enables a defendant to establish an affirmative defence to an offence or action.
Feedback: Incorrect. This is equating facts in issue with evidence. The facts in issue will be proved by evidence, they are not in themselves evidence.

Page reference: 116-117
Type: multiple choice question
Title: Chapter 06 - Question 07

07) Which of the following definitions most accurately describes the concept of a ‘collateral fact’?
*a. A relevant fact which does not bear directly on the matter in dispute.
Feedback: Correct. Collateral facts are relevant but do not go directly to proving a fact in issue. The most commonly proved collateral fact is the credibility of a witness. Credibility is rarely at issue in itself, but evidence of credibility (or more often a lack of it) can indirectly make proof of a fact in issue more—or more often less—likely.
Page reference: the chart structure in para 6.5.3 at page 116-117
b. A fact which establishes an affirmative defence to an offence or action.
Feedback: Incorrect. The correct answer is a relevant fact which does not bear directly on the matter in dispute. Collateral facts are relevant but do not go directly to proving a fact in issue. The most commonly proved collateral fact is the credibility of a witness. Credibility is rarely at issue in itself, but evidence of credibility (or more often a lack of it) can indirectly make proof of a fact in issue more—or more often less—likely.
Page reference: the chart structure in para 6.5.3 at page 116-117
c. A fact in issue which has been admitted by your opponent.
Feedback: Incorrect. The correct answer is a relevant fact which does not bear directly on the matter in dispute. Collateral facts are relevant but do not go directly to proving a fact in issue. The most commonly proved collateral fact is the credibility of a witness. Credibility is rarely at issue in itself, but evidence of credibility (or more often a lack of it) can indirectly make proof of a fact in issue more—or more often less—likely.
Page reference: the chart structure in para 6.5.3 at page 116-117
d. Any relevant fact which is in issue.
Feedback: Incorrect. The correct answer is a relevant fact which does not bear directly on the matter in dispute. Collateral facts are relevant but do not go directly to proving a fact in issue. The most commonly proved collateral fact is the credibility of a witness. Credibility is rarely at issue in itself, but evidence of credibility (or more often a lack of it) can indirectly make proof of a fact in issue more—or more often less—likely.
Page reference: the chart structure in para 6.5.3 at page 116-117
e. Evidence solely affecting the credibility of a witness.
Feedback: Incorrect. The correct answer is a relevant fact which does not bear directly on the matter in dispute. Collateral facts are relevant but do not go directly to proving a fact in issue. The most commonly proved collateral fact is the credibility of a witness. Credibility is rarely at issue in itself, but evidence of credibility (or more often a lack of it) can indirectly make proof of a fact in issue more—or more often less—likely. 

Page reference: the chart structure in para 6.5.3 at page 116-117
Type: multiple choice question
Title: Chapter 06 - Question 08

08) Why might you undertake what Nathanson calls a ‘credible position assessment’?
a. To assess how a court will deal with the legal issues raised by your problem.
Feedback: : Incorrect. This answer describes the alternative ‘prediction assessment’ we might use for ‘fix-it’ problems. The answer that provides the best fit here is ‘to protect your client from the risk of future conflict’.
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b. To increase your client’s confidence in your advice.
Feedback: Incorrect. The answer that provides the best fit here is ‘to protect your client from the risk of future conflict’.
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*c. To protect your client from the risk of future conflict.
Feedback: Correct. This answer provides the best fit here. A credible position assessment supports your assessment of the legal issues, particularly but not exclusively in ‘do-it’ type problems (see paras 6.3.1.1 and 6.5.4), by identifying the legally credible position(s) your opponent might take, and developing your legal strategies in response to these. As the example at 6.5.4 shows, this enables you to go beyond simply identifying issues (so the answers ‘to help identify the legal issues arising in the matter’ and ‘to help identify the non-legal issues arising in the matter’ don’t go far enough) to assessing and then limiting the potential for future conflict.
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d. To help identify the legal issues arising in the matter.
Feedback: Incorrect. The answer that provides the best fit here is ‘to protect your client from the risk of future conflict’. A credible position assessment supports your assessment of the legal issues, particularly but not exclusively in ‘do-it’ type problems (see paras 6.3.1.1 and 6.5.4), by identifying the legally credible position(s) your opponent might take, and developing your legal strategies in response to these. As the example at 6.5.4 shows, this enables you to go beyond simply identifying issues, so this answer (‘to help identify the legal issues arising in the matter’) and the answer ‘to help identify the non-legal issues arising in the matter’ don’t go far enough to assessing and then limiting the potential for future conflict.
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e. To help identify the non-legal issues arising in the matter.
Feedback: Incorrect. The answer that provides the best fit here is ‘to protect your client from the risk of future conflict’. A credible position assessment supports your assessment of the legal issues, particularly but not exclusively in ‘do-it’ type problems (see paras 6.3.1.1 and 6.5.4), by identifying the legally credible position(s) your opponent might take, and developing your legal strategies in response to these. As the example at 6.5.4 shows, this enables you to go beyond simply identifying issues, so this answer (‘ to help identify the non-legal issues arising in the matter’) and the answer ‘to help identify the legal issues arising in the matter ‘ don’t go far enough to assessing and then limiting the potential for future conflict. 

Page reference: 118
Type: multiple choice question
Title: Chapter 06 - Question 09

09) What is ‘action planning’?
a. A way of converting an idea into action by setting tasks to be performed by specific individuals
Feedback: Incorrect. Most models of action planning suggest that action planning is only useful if it can break an activity down into a set of time-limited tasks (otherwise there is no incentive to complete) and that is the problem with this answer. The correct answer is ‘a way of defining tasks to be performed by specific individuals within an agreed time frame, and setting monitoring arrangements for completion’. Similarly, some element of monitoring is also thought desirable, not just to ensure action is followed through but also to support mutual accountability for project outcomes.
Page reference: 124
b. A way of identifying contingencies and risks associated with a particular set of actions.
Feedback: Incorrect. This answer describes a different process, which we call contingency planning (see para 6.7.2). Some, but not all, forms of action planning will benefit from prescribing a quality or performance standard; some models also suggest noting resource 

Page reference: 124
*c. A way of defining tasks to be performed by specific individuals within an agreed time frame, and setting monitoring arrangements for completion.
Feedback: Correct. The differences between these answers are largely of degree, but this captures the most critical features.
Page reference: 124
Type: multiple choice question
Title: Chapter 06 - Question 10

10) Which of the following is not a benefit of effective action planning within a project team?
a. Identifies clear and achievable targets for members of the team.
Feedback: Incorrect. The right answer is ‘ensures work tasks are fairly and equally distributed among the team’ because this might be a deliberate goal agreed by a project team, but it is by no means inevitable.
Page reference: 124
*b. Ensures work tasks are fairly and equally distributed among the team
Feedback: Correct. This might be a deliberate goal agreed by a project team but it is by no means inevitable, although action planning can, if it is sufficiently ‘public’, make the distribution of workload far more transparent. Techniques for action planning are discussed on page 124.
Page reference: 124
c. Contributes to making individuals accountable for their project targets.
Feedback: Incorrect.

Page reference: 124
d. Identifies resources that need to be allocated to specific tasks or actions.
Feedback: Incorrect. The right answer is ‘ensures work tasks are fairly and equally distributed among the team’ because this might be a deliberate goal agreed by a project team, but it is by no means inevitable.
Page reference: 124
e. Builds effective teamworking.
Feedback: Incorrect. The right answer is ‘ensures work tasks are fairly and equally distributed among the team’ because this might be a deliberate goal agreed by a project team, but it is by no means inevitable.
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